
DRAWN
Name

DWG NUMBERSIZE

A4
SHEET 1 OF 1REV -SCALE 1 : 1

BARENCO Ltd.

Barenco Ltd
14, Winterbeck Industrial Estate, Orston Lane, Bottesford, Nottinghamshire. NG13 0AU
Email : sales@barenco.co.uk.  Web address : www.barenco.co.uk   Tel : 01949 860400

Date

Last Rev.

Dimensions: mm

17/04/2019

Sales@ barenco.co.uk

A

End profile of 
centre section

90 degree
twist in arm

Section A

450mm & 600mm 
Flat roof mount
General Assembly

180mm high socket 60.3mm O.D.
will except 2” diameter masts or 

scaffold 48.3mm.
Other options are available.

Bolt through to captive 
nut on back plate with
M10 x 25mm Hex set

& flat washer x 4

To fit external guy kit remove
original bolt and fit link with 

M10 x 30mm Hex set.
Guy kit sold separately

Bolt through end rail and support
arm with M10 x 25mm Hex set 
and flat washer x 4

Notes.

BE106/450 Requires 4 x 450mm x 450mm x 32mm slabs gives approx 56Kg of ballast.

BE106/600 Requires 4 x 600mm x 600mm x 50mm slabs gives approx 160Kg of ballast.

Do not load slabs until all assembly work and leveling is complete and all bolts locked off.
BPG

BE106

4  Way guy clamp connected to support 
arms with M12 x 30mm Hex set, flat 
washers and M12 self locking nut.
Ensure all legs have contact with 
the surface by pushing down the 

guy clamp before securing to mast.

Bolt Kit.

4 x M12 x 30mm Hex Set
4 x M12 Self Locking Nut
8 x M12 Flat Washer
8 x M10 x 25mm Hex Set
8 x M10 Flat Washer

Parts Supplied

4 x Legs ( Top Hat Shaped )
4 x Support Arms with 90 Degree twist.
4 x Leg End Angles to Retain Slabs
1 x BE752 2” x 180mm Socket.
1 x BE614/A 4 Way Guy clamp
1 x Bolt Kit with Assembly Drawing.


